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1) Using the graph below. determine the following:

‘ | A) The axis of symmetry
31 X - 9\

, 4

Nt B) State the maximum point

S| . S 1 ;
B (9,4)
N |
C) The roots of the equation.

NRY (-4,00 (0:0)

bog 4

2) Using the graph below, determine the following:

" . A) The axis of symmetry

B) State the maximum point
xSy (-3 -3
1|

' C) The roots of the equation

(4,0 (2,0

3) What is the product of —2x* and 4x°?

“Sﬂﬂ

4) What is the product of 3x*y” and 9x2y?

Q'Vﬂ593
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3y T Lom12aFyt ;

5) The expression Txg is equivalent to:
- . 16x8yf . .

6) The expression 717}% is equivalent to:

Directions: Factor each of the following:

p v-2s DO
(X-5)(X+S)

g) 31’ +12x+6 M o)

B2 Yxt ) 1-3

.
(kM4 %)
11)4x3—64x
Hx (- 1)
L X (X~ U)(x )

8) 2x° = T2x

3 x (1*-30)
2 x (-6 (+C)

10) x*-16

C~4)(xt4)

12) ' +10x+21

L)( ﬁjx}éw 3\)
¥ (x+7) 3(x+7)
(X+%)(Xt‘7)
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13) Ox' — 96y

o x? (X )
lox® (x~41) (x + )

15) —4x* —36x-72 | J_Z_
—4 (xg+qx+\‘3> 6-3
“ 4 (X2 +loyfor 15
X (%) 3( xY6)
o] (xA BN kx6)

6 22
17) X —4x

x;’(x% )

19) 3x* —6x° —30x

2
HA (25 k-10) 5,T

O

~[ox*

14y 26 +10x+0 | '5\
2 X345k 1D) P\
ﬂo(\L

_ (a‘LQ
) Y —
16) Ix~ —dX |

(3xa—én<)/><‘9) /9‘ 5

Bx (k-2 (X2
(DAx1) (x-3)

18) x +14x+45 (_[ii

4.5

éo‘+0| )(K% A T¢l§)
(e S (k)
() (xx %)

2()(2,\'3 - 10,\3€ X+ 5)
&)&9()\,6) ’-\(X’S>

(9x™1) (xS)
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21) ¥ =26v-27 ‘97 77)2.\~-’+.1'-6 LT; 2N
| 1.2 . , '
{X &7)( '(x (197471 L %5)('(0)
(x- _
)\ X ;—D X 97) I x (X*'9> "BCX*D)
Can oo (ax- ()
23(4-‘3'—34.‘%”6) 24y —5x"+500x
. Sr (1= 100)
Hy(x-6) -1(x-
J (x G) | Sy (XD 10)
(4y-1) (x-)
) : AT 2
25) 100x —49y° 26) 25 +3x—5 :’\-’O')E_ ~
(10£%19)( (0x*47Y) Q;zx‘ﬁsxﬁax—@
£(9 x+5) "l(élxrs)g -5

(%=1 (9xrs)

27) Simplify each of the following:

77a“b‘56 b 32m8h2

_} O (0 b ‘% mb b
O(ob‘]
¢.10a73-3a"8 d. 12x* - 3x
A > 20 3l %
d'h

J
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